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Name : ___________________________


The 2 main types of horizontal distance measurement are : ___________________________



And _______________________________________________________________

One rod is equal to :  ___________________________________________________________

A Gunter's chain is ____________________________________ feet long.

An Invar tape is made of ________________________________________________________

A Chain Puller is used to ________________________________________________________



___________________________________________________________________

A Pocket Thermometer is used to _________________________________________________



___________________________________________________________________

The person ahead, holding the zero end, is called the ________________________; the other 
person is known as the _______________________________________________.
The Head chainman holds the _____________________ end of the tape.

Lining In means to ______________________________________________________________


____________________________________________________________________

A ADDING TAPE means __________________________________________________________



____________________________________________________________________

A CUT TAPE means ______________________________________________________________



_____________________________________________________________________

When surveying over sloping ground, a Plumb Bob is used to __________________________


____________________________________________________________________

Why should the chain be kept in a straight line during measuring? ______________________



____________________________________________________________________

A CATERNARY is when __________________________________________________________



____________________________________________________________________

Surveying I




Unit 6




Chaining


Breaking tape means ___________________________________________________________


___________________________________________________________________

An INTERMEDIATE point is ______________________________________________________



___________________________________________________________________

The principle problem with clearing a line is ________________________________________

How can the swing of a plumb bob be reduced? _____________________________________


____________________________________________________________________

A PLUS tape means distance is _______________________________.

A MINUS tape means distance is ______________________________.

It is essential that measurements and other data be recorded __________________________



____________________________________________________________________

A "+" error means that the tape is reading too _____________________.

The cardinal rule of taping is to keep _______________________________________________.

You should ______________ let a vehicle drive over a chain.
When may SPLICING a tape be required? ____________________________________________
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